B FEREEFARLERTY .

HETiEE

BRBOHMEIGR—L—I KW CAD - PDFEES DY O—RUTITHERETE0,
HD7-4-10S. 7-7-10S. 10-5-10S EBEHE (O3 EIAMIEBELTVFET )
D1 (ANN=)
D2 (¥+—)
| |
7 ; D P f
e \ B \ \\}\
| T | E i |
et L
‘ — [ N =
BMWIEwW BTt d
W
|
———es
4-M3FEMR U)\E)
ZoMyA4 X D1 (h—)
D2 (¥v—)

H1

H2

BTEN

BETE W BT

M3

L ~\
|

BIE - X - (RS

—nmmmmnnn
27

HD 7- 4-10S 32 M/N\gE M3 X4 94.1 3,450
Raspberry Pi (56x85)
m HD 7- 7-10S 65 65 60 95 93 61 55,5 90 M)\ M3 X4 129 4,310
€D HD10- 5-10S 95 48 40 G5 | eE | @l 355 90 MV)\EE M3 X 4 = 138.5 4,120
€D HD11- 5185 111 50 376 175 165 1024 335 162 AU LAY K M3X16 386.3 6,420
. I1—OE#R (100X 160)
€D HD11- 7-18S 1 70 576 175 165 102.4 535 162 AU LAY R M3X16 447.7 6,800
D HD15- 7-16S 151 65 526 162 152 1424 485 149 AU LAY R M3X16 Mini STX (140x147) 500.8 7.380
D HD16- 6-12S 157 60 476 118 108 1484 435 105 AU LAY R M3X16 3.54VFK—R(146X102) 382.1 6,570
D HD16- 5-21S 160 50 376 210 200 1514 335 197 AU LAY R M3X16 = 573.9 7,480
€ HD19- 8-21S 192 75 62.1 210 200 1824 575 197 AU LAy R M3X%X20 Mini ITX (170x170) 838.1 9,740
D HD21-14-255 210 135 1221 250 240 1994 117 236 AU LAy R M3X20 = 1587.8 11,730
D HD26- 8-20S 260 80 67.1 200 190 2494 62 186 AU LAY R M3X20 = 1162.8 9,880
@D HD32-10-235 320 100 87.1 230 220 3094 82 216 AU LAy K M3X20 — 1678 11,850

N—J QX

BEER/
Photo
INDEX

TSAFvI
=2

FrUvo
-2

Bh7K - BhEE
BigyI 2

Bk - BhEE
7=/
27U
RyIZ

IRFRYIR/
Fhkaxo5/
7=
ITSUR

7IL=
=L/
e—hvo
T—2

Ty
=2

X9
Gr=22

TU— b"fZ

7U—b‘4Z‘
NIV

SvIr—2/
YISvo

iR/
SvIINRIL
FiLs—/
TyRvoR
7Y U—
/g HEERS

HAY LR

B/
BETRA

8-4





